Bellwork Alg2B  6th Hr  Wednesday, January 10, 2018

1. Use the given information about an arithmetic sequence to find the number of terms.

ag = =25 a3 =3 Last Term is 59
2. Find the 20th term in this sequence: 3. Find the 14th term for this sequence:
23,32,41,50,... 3,-6,12,-24,...

4. The following information is for a Geometric Sequence. Find the 20th term.
a3 =6 a7 = 486

5. The following information is for a Geometric Sequence. Find the number of terms.
a7 =38 ap =512 The last term is 131,072
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1. Use the given information about an arithmetic sequence to find the number of terms.
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5. The following information is for a Geometric Sequence. Find the number of terms.
a7 =38 apz =512 The last term is 131,072
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